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AT TUT (Commutative law)

wufatim - w8+ fafee
AN
o=l oft <Y quTieRl T oW SEETaRT AT T TR oft
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B e e e T
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g ot & gutien faftag U T T IEeTRT UH Site gfRomy
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a) (-3)x4 =___x-3 b) 2x_ =-1x2
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I de@deh (Additive Identity)

o T faent frdt ot gutfes ® s s W
gRUTH | hig URad (SEATd) = 3T |
R e aiRw
a) 3+__ =-3 b)  __ +(=50) =50
)  10+__ =10 d  __+75 =75
) __+0 =10 f) a+0 -
et et s sl

Fowe: [ @i fiquie & _ T & Siied W 3Ha AF | g ot IRad (98ad) TRl i €
RERCEUGRLIED = aw g1 (0, 1)

TUTTHh dcdHeh (Multiplicative Identity)

o W foed faredt oft gurfer st 1o & o
gRuT W shig ufed™ (SEaTe) 1 |

Freafafaa o Rea o aRw)
a) 3x__=-3 b)  __ Xx(-50) =-50
)  10x__=10 d __x75 =175
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e R wem wiRw)
fremel: | Weft quiieht 1 Y TN HH R D AE H FE o IRad (S T ST 7
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|Eed : WY @A/ fafe F e
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[ g oft = gutier wifg YUTieRl ST AT, TSI TIH SATRT Frrseret
a) -3 , —2 , 1 [3+2)]+1 = -5+1 =4 A B |
SB3+[(-2)+1] = B3+(-1)=-+4
by 4 , -5 7 [4+(5)]+7 = -1+7 =6
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Raa wem vk
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) g™ 0T (Associative law)
[ X o0 oo
[
¢e o |, 00 00 e o0
o0 o0 e o o0
(6 + 3) + 4 = 6 + (3 + 4) =13
(1I)
o o o ()
® o0 | _® e e
o o0 ® 0 o o0 o0
(— + ) + = ot (ot )=
> |l YuTiehl o fTT T Fgetaht Siigd W oft S (THT/TEAT) Y&l §)
e feu T Y=t ot SRt R e aR ?
1 2 3
1 2
2{ mmm————————————— —_
4 5 6 2x3)x4=2x(3x4)
\-/\’\/ 6d4=24dR12
3 24 =24
1)) Bx4)x5=__x(__x__)
et e v wiRw)
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w13 ot i quTieh TfTT YuTichl Rl TETE, ETT-3TT ITH SRt UIRUTH
a 3, 2 1 [3-(2)]-1 = -1-1 =-=2
(-3)-(2-1) = -3-(3)=0 3TEHT 3
b) > > [ ]+ = _+t_ =_
+ 1l = _+_ =__ -
foreerst - [Tﬁaﬁaﬁmwv@ﬁﬁ@m%| ]
U & foe s
g oft = gutier wifeTg YUTiehl ST TUTH, STCTT-3TCTT W SR o
a 3, =2 - [3x-2]x(-1) =6x-1 =-6
HH TUTHA
(B)X[(2)x ()] =3x2 =6
b) ; ; [ X =_x_ =_
X[ I =_x_=__ -

.

fregd: | il @ o pe e dmy |

e o wrgerd fram st g & e i

) 14x9=02xT7)x9=2x(7x9) =2x63=126

i)  —I8x7=(__X__ )x_=_x(_xX_)=__x__=

i)  15x-8=(__ x__ )x_=_x(_x_)=__x__=

iv)  —5x4x-25= —5x(4x-25)= —5x-100 =500

V) —Ix5x-200=_  x(__x__ )=__x(__ )=
o)
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1) (-7x2)x5=___x(2x5)

i) (I1x-3)x4= 4 x

iii) (axb)x ¢ = X(__X_)

iv) 20x-5x-1=__ x(_ X_ )=__ x5 =__
V)  2x250x-2=__ x(__x_ )=__x__ =

g ot T guTieh g YUTiehl ST LT, TETT- 3T YTH SHTHT gRomH

a -8 , 2 ,2 (-8+-2)+2 =4+2 =2
8+ (2+2) =8+-1 =8 ST SRR
Toreers [ YuTiehl o TTT, WIT WIgerd &l &l g | ]

o1 § Tl wer 3T ST ver wht get hteh SRt fon ST v sRTeR E AT i (aiferd W & ar
fataw)

(1) (27+13)+10 = 27+(13+10)
(i) 15+0 = 0+15

(i)  21+29 = 29421

(iv) 2x3x4 = 4x3x2

v) 10 -0 = 0-10

(vi)  -3x4x%x(-5) = -5x4x(-3)
(vii) 17-7+0 = 0-7+17
(viil) 1x-2x3 = 3x2x1




feraoT TuT (Distributive law)

FRT UR TUT okt faravor Feam
1. (2+4)
(2+4)
(2+4)
3x(2+4) = 3x2 + 3x4
2. o0 ® 6 o ® O ® 060
o0 ® 6 O o o ® 06 o
o0 o 6 O o o ® 06 O
X ( + ) = X+ X
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